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in a stat mech problem
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Simulations :

can't do integration by quadrature
instead : integration by sampling
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Generate "Markov chain
"

Markov chain :

rule takes Xi → Kitt

only depends on Xi ← Markarian
To sample from PCH, also ensure
"detailed balance "
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If enforce detailed balance then
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Detailed Balance
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Metropolis :
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for molecular system

/
another example

Xin = Xi t g - r swap 2
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Algorithm :
O : initial configuration = Xo

1) propose Xiti
from Xi Pgh (Xi -Xin )

2) random number TECO, I )

if FL r ( Xi → Xin) : keep Xitl

else : Xin - Xi
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Summarize
Monte is a powerful & general

method

⑤"if ing happens at a time

reject a lot of manes

② gives static properties
most of the time



empt


